



John A. Dolan (jdolan@yorkdolanlaw.com)
Timothy D. Tomlinson (ttomlinson@yorkdolanlaw.com)
Linda M. McGrail (lmcgail@yorkdolanlaw.com)

Fred A. York (1930-1989)

August 5, 2025

Via Email (fschulte@gpwmi.us)
Mr. Frank Schulte, City Administrator
City of Grosse Pointe Woods
20025 Mack Plaza
Grosse Pointe Woods, MI 48236

RE: YORK, DOLAN & TOMLINSON, P.C. - LEGAL BILLING

Dear Mr. Schulte:

Enclosed is our statement for legal services rendered for the month of July, 2025. If you have any questions regarding same, please do not hesitate to contact us. We remain,

Very truly yours,

YORK, DOLAN & TOMLINSON, P.C.

Timothy D. Tomlinson

Timothy D. Tomlinson

Enclosure

cc: Sue Como, Via Email (scomo@gpwmi.us) w/Enclosure Steven Schmidt, Via Email (sschmidt@gpwmi.us) w/Enclosure

York, Dolan & Tomlinson, P.C.

INVOICE

22600 Hall Road, Ste. 205 Clinton Township, MI 48036

Invoice # 318 Date: 08/05/2025 Due On: 09/04/2025

City of Grosse Pointe Woods 20025 Mack Plaza Grosse Pointe Woods, MI 48236

00008-City of Grosse Pointe Woods

Prosecutions

Type Date		Notes	Quantity	Rate	Total
Service	07/02/2025	P v Hall - Rec and Rev incident report and request for S/C; Reply email	0.50	\$155.00	\$77.50
Service	07/02/2025	P v Ferrell - Rec and Rev Incident report and request for S/C; Reply email	0.50	\$155.00	\$77.50
Service	07/07/2025	P v Young - Rec and Rev email from victim re: restitution; Reply email	0.20	\$155.00	\$31.00
Service	07/07/2025	P v Arnone - Rec and Rev email w/ incident report and request for S/C; Reply email	0,60	\$155.00	\$93.00
Service	07/08/2025	P v Schulte - TC w/ D's atty.	0.20	\$155.00	\$31.00
Service	07/08/2025	P v Cooper - Rec and Rev Defendant's Motion for Rehearing or Reconsideration	0.50	\$155.00	\$77.50
Service	07/09/2025	Prepare and attend municipal prosecutions	2.10	\$155.00	\$325.50
Service	07/09/2025	P v Thomas - (2) TC w/ court	0.20	\$155.00	\$31.00
Service	07/14/2025	P v Zaki - Rec and Rev email w/ request for S/C; Reply email	0.50	\$155.00	\$77.50
Service	07/14/2025	Rec and Rev DPS response to subpoena - Schnieder	0.20	\$155.00	\$31.00
Service	07/14/2025	P v Ali - Rec and Rev email w/ incident report and request for S/C; (2) Reply emails	0.60	\$155.00	\$93.00
Service	07/15/2025	P v Clowney - (2) TCs; Rec and Rev email from Reed; TC to D; TC to atty Zainea	0.60	\$155.00	\$93.00
Service	07/18/2025	Rec and Rev email from court	0.20	\$155.00	\$31.00
Service	07/22/2025	P v Clowney - Rec and Rev email from Zainea; Email Reed	0.20	\$155.00	\$31.00

and the second second	CANADA CA				
Service	07/22/2025	P v Thomas - TC w/ victims	0.40	\$155.00	\$62.00
Service	07/23/2025	Prepare an attend municipal prosecutions	2.50	\$155.00	\$387.50
Service	07/25/2025	P v Lamoreaux - Rec and Rev email w/ Demand for Discovery; Email DPS	0.50	\$155.00	\$77.50
Service	07/25/2025	Rec and Rev email from court	0.20	\$155.00	\$31.00
Service	07/26/2025	P v Avouris - Rec and Rev email w/ incident report and request for S/C; Reply email	0.60	\$155.00	\$93.00
Service	07/26/2025	P v Avouris - TC w/ DPS; TC w/ viclim	0.40	\$155.00	\$62.00
Service	07/29/2025	P v Clowney - Rec and Rev email from Reed; Email Zainea	0.20	\$155.00	\$31.00
Service	07/30/2025	Prepare and attend municipal prosecutions	2.00	\$155,00	\$310.00

Subtotal \$2,154.50

00049-City of Grosse Pointe Woods

General

Туре	Date	Notes	Quantity	Rate	Total
Service	07/08/2025	Rec and Rev email from Walling re: ACLU response; Revise response; Email response	1.00	\$155.00	\$155.00
				Subtotal	\$155.00

Detailed Statement of Account

Current Invoice

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
318	09/04/2025	\$2,309.50	\$0.00	\$2,309.50
	PSP administration of the graph and that yet they produce a se		Outstanding Balance	\$2,309.50
			Total Amount Outstanding	\$2,309.50

55 FD

Total

\$2,309.50

101-266-801.200 for 101-266-801.200 for 101-266-601.100 for 101-266-401.000 first. 50

Please make all amounts payable to: York, Dolan & Tomlinson, P.C.

Please pay within 30 days.